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SSAIAIZCIAF Q1 HHl XIR(Z22AMSEXESH H M 93,348 90,972 2,376
SHAS)
= 46,674
Al 46,674
101 121 4| 93,348 90,972 2,376
= 46,674
Al 46,674
04 JI2ZtHIZ22NEES 93,348 90,972 2,376
O SE At 22l AP 21 24 H] 93,348,000 93,348
= 46,674
Al 46,674
s|lu=X KA 35,000 32,000 3,000
201 LBt 29,000 29,000 0




= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 9,000 9,000 0
OsIY=R =2 9,000,000& 9,000
03 &AL Z I 20,000 20,000 0
OX0tol= g %YlUs MUHA 23
20,000,000& 20,000
301 et a3z 1,000 1,000 0
09 &AL HI B A S 1,000 1,000 0
OMASOls HEXBZEI AHE24
1,000, 000& 1,000
307 21201 A 5,000 2,000 3,000
11T MISRASEX 5,000 2,000 3,000
OAMEI=X2E JE8&A XI& 5,000,000 5,000
MeZZd ZM ZUH 29 1,000 1,000 0
301 et A3 1,000 1,000 0
09 &AL HI B &S 1,000 1,000 0
OMEZ2 ¥ 2LIH 22 1,000, 000& 1,000
ZHSUSE RS AMY 8,000 8,000 0
< 4,000
Al 4,000
301 et d=s 8,000 8,000 0
< 4,000
Al 4,000
09 HALAHIEA S 8,000 8,000 0
Os%s sYsEelXNZB ol 23 N
8,000,000& 8,000
< 4,000
Al 4,000
HOtIt= =SXNAMHA X 147,000 143,400 3,600
J| 79,000
< 20,400
Al 47,600
405 TtabH S| 147,000 143,400 3,600
J| 79,000
< 20,400
Al 47,600
01 et ESFH S 147,000 143,400 3,600
OOt SXNAMEIA XHEXE
147,000, 000& 147,000
Jl| 79,000
< 20,400
Al 47,600
U =XSa 13,197,247 11,337,353 1,859,894
= 6,090,204
< 1,379,923
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2N
X ZH -
L= B

el

=M X 2D
INEMBEI (NG =X/ ENE D)
= RIE VRS

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

5,727,120

S
b
4
i
=
03
2
i
o

= N W

431,974
267,102

15,115
149,757

450,400

N 18,426

= W

431,974
267,102

15,115
149,757

450,400

N 18,426

381,574,000&

50,400,000&

Al

= M

431,974
381,574
267,102
114,472

50,400

15,115
35,285

450,400

N 18,426

H

Al

269,624

188,737
80,887

260,000

9,624

H

Al

269,624

188,737
80,887

260,000

9,624

=l
OFM=Z (a2 &) N

269,624,000&

= N

269,624

269,624

188,737
80,887

260,000

9,624

= H W

3,574,629
2,502,241
321,716
750,672

2,986,486

588,143

= M W

3,574,629
2,502,241
321,716
750,672

2,986,486

588,143

A& 3,574,629,000&

= M W

3,574,629
3,574,629

2,502,241
321,716
750,672

2,986,486

588,143

O 2lZHl XA

H

Al

117,466

93,973
23,493

94,679

22,787

H

Al

117,466

93,973
23,493

94,679

22,787

117,466

94,679

22,787




AN FUHEX S D
B ) MBS (MSSX/IIZMBLE)
ol Zoj=XEA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&Ofel 2l=Hl XA 117,466,000 117,466
= 93,973
Al 23,493
MASZE0Hel Aty 2 HAH X2 4,000 3,570 430
= 2,000
Al 2,000
301 et a3z 4,000 3,570 430
= 2,000
Al 2,000
01 MEIBEE 2063 4,000 3,570 430
OHe SES&Edl X& 4,000,000 4,000
= 2,000
Al 2,000
oI ExRI| 2 K& 4,845 5,125 A 280
= 3,876
Al 969
301 e A3 4,845 5,125 A280
= 3,876
Al 969
01 MI28E 6= 4,845 5,125 A 280
OFoel MHaEEXRI7 XA 4,845,000 4,845
= 3,876
Al 969
ZOHAE XD & HOLH X AAE 10,148 10, 148 0
< 5,074
Al 5,074
301 et d = 10,148 10, 148 0
= 5,074
Al 5,074
01 MEIBZE 05z 10,148 10, 148 0
OZMWALEIR & B MH X
10,148,000& 10,148
< 5,074
Al 5,074
SSHMHLY =HEE HE= At Y 10,000 10,000 0
= 3,000
Al 7,000
402 BI2HX=01 M 10,000 10,000 0
< 3,000
Al 7,000
02 QI EAL EZ (OIS ) 10,000 10,000 0
OZSEZHM F=HEZ ML AL (2ATH)
10,000, 000& 10,000
= 3,000
Al 7,000
ZoNolg el NE(SX LX) 195,360 140,000 55,360
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~
S
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CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

= Hn

97,680
29,304
68,376

S
e
e
=

= N H

195,360
97,680
29,304
68,376

140,000

55,360

04 DIt Z22XsE+
OFOe =SXLRel At 195,360,000

= N H

195,360

195,360
97,680
29,304
68,376

140,000

55,360

=}

O LXK (LetE L Xtel)

=z N H

424,574
212,287

63,686
148,601

230,000

194,574

=z M H

424,574
212,287

63,686
148,601

230,000

194,574

OZOe HHZL0l X& 424,574,000

= M W

424,574
424,574

212,287
63,686
148,601

230,000

194,574

= M

609,363

16,460
592,903

594,500

14,863

307 21201 &

H

Al

609,363

16,460
592,903

594,500

14,863

o
o
e
S
0
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e Jm
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fgd 29 (2M)

609,363,000&

H
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= M

609,363

609,363

16,460
592,903

594,500

14,863

2
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L
o
=
o
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=
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= N H

2,481,900
1,737,330
223,371
521,199

2,043,033

438,867

308 XM S0IH

= N H

2,481,900
1,737,330
223,371
521,199

2,481,900

N
il

2
o
re
o
0

© 0
0%
2
o on
]
0
b
o
>
R ¥

2,481,900,000&

2,481,900
2,481,900
1,737,330

2,481,900
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

223,371
521,199

LETHEAMHIA BIRH XI&

= M W

209,520
146,664
31,428
31,428

202,144

7,376

308 MHXItHMS0IH

= N W

209,520
146,664
31,428
31,428

209,520

S
=
on
2
e
ra
> oy
0

o o
ne
0
=
e
x
o
=
e JA

209,520,000&

=z N W

209,520
209,520

146,664
31,428
31,428

209,520

ORI KHE X &

17,000

7,300
9,700

17,000

307 glztol &

= H

17,000

7,300
9,700

17,000

1A SXAIE E =
ol

O Al 2t & OH 5,000,000&

12,000,000&

H

Al

in

Al

17,000

5,000

2,500
2,500

12,000

4,800
7,200

17,000

0z
==
e
Ju
bl
>
M
Pl
{0

H

Al

2,199,600

295,550
1,904,050

2,261,966

A 62,366

H

Al

260,000

130,000
130,000

260,000

I8 SMLT =E K&

260,000,000&

H

Al

260,000

260,000

130,000
130,000

260,000

307 glz2tol ™

= N

1,939,600

165,550
1,774,050

2,001,966

A 62,366

o
()]
e
S
0
oy

e Jm

©
0z
2

o
b
e
20
02

1,067,587,000&

=

1,067,587
1,067,587

51,100
1,016,487

1,067,587
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10 A SAAEHI2SHIEX 872,013 934,379 A 62,366
O=tSauH 29 120,950,000& 120,950

5,650
Al 115,300

H

102,838,000& 102,838
6,800
Al 96,038
51,646,000 51,646

2,000
49,646

H

©
0%
2
e
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o
0z
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0
Ho
02

= M

©
02
o
I
S
HT
fol
=

B 2 (3MA)

512,529,000& 512,529
60,000
452,529
OANLFMAFAESHE 29 84,050,000 84,050
40,000
44,050

= M

= H

0
2
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9
N
>
B
o
02
>
0

,084,724 1,063,892 20,832
750,364
102,863
231,497

=z N H

307 glztol &

—

,084,724 1,063,892 20,832
750,364
102,863
231,497

= N H

10 M SXNANEEE2SHES

OZOMANFAIE 2EXE 1,071,948,000&

—

,084,724 1,063,892 20,832
,071,948

750,364
96,475
225,109

—_

= N

OXOMHANFAIE BEXH OF2d==< (20 A)

12,776,000& 12,776
6,388
Al 6,388

H

O
Ol
02
2
o
Hn
H0
=)
1>
0o
>

0

a 225,849 154,800 71,049

90,340
Al 135,509

H

307 21201 & 225,849 154,800 71,049

90,340
Al 135,509

H

A S XA E X 225,849 154,800 71,049
OSsZM =0l =& K& 225,849,000 225,849

90,340
Al 135,509

H

SSTOHAANN At 2el K& 78,000 79,720 A1,720

27,300
50,700

= M
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 78,000 79,720 21,720
= 27,300
Al 50,700
11T M SXASE EX 78,000 79,720 AN1,720
OZSSHOMAAC Atell2tel XIZ 78,000,000& 78,000
< 27,300
Al 50,700
FAFe OlsdadseE XA 600 610 A 10
= 300
Al 300
301 LBtEAF 600 610 A 10
< 300
Al 300
01 MEIBEE 053 600 610 A 10
OBLIMHO 0SYATERS X2
600,000 600
= 300
Al 300
AMEFHMR FEAH XA 10,500 10,500 0
= 5,250
Al 5,250
301 L2 LS 10,500 10,500 0
= 5,250
Al 5,250
01 MEIBEE 063 10,500 10,500 0
OMZ R EAH X& 10,500, 000& 10,500
< 5,250
Al 5,250
ZOH QI XA 236,243 290,000 AB3,757
201 Let24d] 19,500 14,500 5,000
01 At 2teltl 15,500 10,500 5,000
OFMA=XAY EE2E S MZ 5,000,000& 5,000
OFOMIRSX HEX 7¢ 1,000, 000& 1,000
OFMe2 & & Xt 4,500,000& 4,500
OMAEAl Zofegs XJ =58 M2 o =&
5,000,000& 5,000
02 =224l 4,000 4,000 0
OENAHEA 29 2,000,000& 2,000
OHM=XSAHa M &HEE I
2,000,000& 2,000
202 odl 2,000 2,000 0
01 = LH o4 1l 2,000 2,000 0
o2& 0l 2,000,000& 2,000
301 et A3z 23,500 27,500 A 4,000




A FOUMET R D
H: JXMESX(ASEX /I ZME T E
Sl FoHoI=X B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al E & A 452 2,100 6, 100 A 4,000
ONAZOY XTI & BFT 7Y
2,100,000& 2,100
09 SHAIAHI B A2 21,400 21,400 0
OHOMAXI X3 EHAX AHEA
800,000& 800
OO XIS A Y 2FAlDSE EAX A A
600,000 600
OXHMAEEN=Ha AKX AHEA
800,000& 800
O&MIIsHIIUZ AKX AHEA
1,100,000& 1,100
oO&Me 22X SstM EFAX Adl 2 A
600,000& 600
OZQ S=ZFEA (D) HAX AdHE4
600,000& 600
ON=2=0t2 U3 HAX AHEA
1,500,000& 1,500
OF=Z=s0IoM=EUHS AKX AHEA
1,100,000 1,100
OSZHC ZH 25 AKX AP
300,000& 300
OEMEXNAILE SAA 385 24X AdHEA
1,200,000 1,200
OM183 XM A Y& SHAF EHAX AHE
& 1,400,000& 1,400
OHNP263 ZHEMON OlctEWH3 HAF ZIHA
Al 2 A 900, 000& 900
OA A0 BIXIEOIS & AN ZAX Adl
524 2,100,000& 2,100
OXOMOl=E MESS EHIHAF AlHl Ea
1,300,000& 1,300
OHOMOIES gelsty XNIA=SAF IR Adl A
6,000,000& 6,000
OHM63 XIMEOCISOISMH =LA AdlEA
1,100,000& 1,100
307 2Iz2t0| & 191,243 246,000 NB4 757
02 QIZHAE AAIE E X 20,000 20,000 0
OO 2O =2l A 20,000,000 20,000
03 A4 EESIHEX 45,000 48,000 A 3,000
OXHZOHC AFEAIKIE 29l X
20,000,000 20,000
OANLEHHAFXNAES AMEAIXNE 2FH X
& 6,000,000& 6,000
O=s0tl8s AIRAIKE 894l X
6,000,000& 6,000
OXMHAUAERSG AFHAIXE 29H| X
7,000,000& 7,000

- 22 -




A FOUMET R D
H: JXMESX(ASEX /I ZME T E
ol Zoj=XEA CER-ED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OFELXMHQIES AMEAIXE 294 X
6,000,000& 6,000
05 QIZ2tR E 2 89,243 75,000 14,243
OEHMOOHEA 29 X& 89,243,000 89,243
11T A EXAIEEX 37,000 103,000 A 66,000
O=0t2l £3twal X& 4,000,000& 4,000
O&Me EX sXUE XA 30,000,000 30,000
OHMOIsS SXNSE AHY 3,000,000& 3,000
HAEEMDIsZLS 4,600 4,600 0
= 2,300
Al 2,300
301 et A= 4,600 4,600 0
o= 2,300
Al 2,300
01 Al E& A 252 4,600 4,600 0
OWMEZO JssSE s 4,000,000& 4,000
= 2,000
Al 2,000
OZESHHEEMC 2MHGF FHSH XNE
600,000& 600
& 300
Al 300
&R W= 23,435 22,500 935
= 16,405
= 2,109
Al 4,921
307 2iz2to| A 23,435 22,500 935
= 16,405
= 2,109
Al 4,921
11T A EXAIEEX 23,435 22,500 935
OWAMEZEOHR WRAIA 23,435,000 23,435
= 16,405
= 2,109
Al 4,921
HAE AR E4atHIE XA 10,000 12,000 A 2,000
= 7,000
o= 900
Al 2,100
301 et A= 10,000 12,000 A 2,000
= 7,000
o=} 900
Al 2,100
01 M3 EXEE 4562 10,000 12,000 A 2,000
OAZOR ES4HHIE XK AFY 10,000,000 10,000
= 7,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 900
Al 2,100
ZOHQ 2CHSHH AE 500,000 0 500,000
401 Al HI K 201 I 500,000 0 500,000
01 A& Bl 500,000 0 500,000
OAEAl ZOHQ ICMISHEH HESA
500,000,000 500,000
oMty 29 XA 10,000 30,000 220,000
308 XXl EHH SOl A 10,000 30,000 220,000
08 WSEII20HetE = 10,000 30,000 A20,000
oFfelEMsrtw 24 XA 10,000, 000& 10,000
g R2aE X2 7,680 6,645 1,035
= 5,376
< 1,152
Al 1,152
308 XX EHSOIA 7,680 0 7,680
= 5,376
< 1,152
Al 1,152
10 3J/2S0HUHeBA&EEALS I 7,680 0 7,680
OZZHM 22 &4F XA 7,680,000 7,680
= 5,376
< 1,152
Al 1,152
STSHMHL XEgdady XA 140,000 140,000 0
< 56,000
Al 84,000
307 21201 A 140,000 140,000 0
< 56,000
Al 84,000
10 ALSISXAIEEE2GHEX 140,000 140,000 0
O=S T NEgdEdy 29
140,000, 000& 140,000
< 56,000
Al 84,000
ZOHAHJAI LR RAEEH 29 55,000 50,000 5,000
< 16,500
Al 38,500
307 21201 A 55,000 50,000 5,000
< 16,500
Al 38,500
11T MISAASEX 55,000 50,000 5,000
OO EHYALXNIMMH 2F 55,000,000 55,000
< 16,500
Al 38,500
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HL
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= A

FHE B (HH) - NRAY - B

Off &t 24

=

i
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o

S2EX Ot
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=0

= N H

2,613
1,829
235
549

2,003

610

308 MtXIHMS0IH

= N H

2,613
1,829
235
549

2,613

2,613,000&

= N H

2,613
2,613

1,829
235
549

2,613

FOoHIL Xl X2 (AR L Xtel)

=z H W

111,800
55,900
16,770
39,130

96,000

15,800

= M W

111,800
55,900
16,770
39,130

96,000

15,800

04 DIZtHN 22 S
OZO0HQ AlZ2tX

A
.
=

2 itel K&

111,800,000&

= MW

111,800

111,800
55,900
16,770
39,130

96,000

15,800

ne

n
0
2
o
/3]
0
o
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>

Y

= N W

1,800
1,440
180
180

1,800

307 212t0l &

= W

1,800
1,440
180
180

1,800

’

[0}

HE X
00,000

= N H

1,800

1,800
1,440
180
180

1,800

ZOHAEAAIE M =T A

= M

24,400

7,320
17,080

24,400

307 glztol &

=

24,400

7,320
17,080

24,400

S
e
~
o
0z
>
i
HL
FA

24,400

24,400

_25_




A FOUMET R D
M JZMEDE(MSN/IIZNERE)
Sl FoHoI=X B (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OXONQUEOJA A AEY M=EZA 24,400,000 24,400
=} 7,320
Al 17,080
O QI L K2l KN (=) 27,000 0 27,000
= 13,500
Al 13,500
101 21 214| 27,000 0 27,000
& 13,500
Al 13,500
04 JIZtHIZ22XNSES 27,000 0 27,000
OXOHI Y Xtel K2 (EHl) 27,000,000 27,000
= 13,500
Al 13,500
HOCIDIEXNFHAEH 24 83,000 0 83,000
o= 24,900
Al 58,100
307 212t0| ™ 83,000 0 83,000
o=} 24,900
Al 58,100
11 A EXAIEEX 83,000 0 83,000
OZOMHRUIIIEXN KM 29 83,000,000 83,000
& 24,900
Al 58,100
MEES(ZTUMESIAN) (A EX /I =MEEH) 1,747,602 1,568,728 178,874
WEAHAHXI= 1,747,602 1,568,728 178,874
JIEtSHEEZ2 1,747,602 1,568,728 178,874
701 JIEIS HSHES 1,747,602 1,568,728 178,874
01 JIEIS HEE 2 1,747,602 1,568,728 178,874
09z2202I2 S43H 852
1,747,602,000& 1,747,602
SHM A AY| (=0 MES X)) (IIEH/DIE 116,120 106,720 9,400
olad 2 A Y| 5,120 5,120 0
oled A Y| 5,120 5,120 0
101 21 214| 5,120 5,120 0
03 I HLs22 HE 5,120 5,120 0
Oz 20H=3 X 22lAtY 5,120
o M FAY| 2,400,000& 2,400
o H&EF Y| 2,000,000& 2,000
oNRXFLY 720,0002 720
JlE&d| 111,000 101,600 9,400
Jl2 &4l 111,000 101,600 9,400
201 Bt 12,000 11,000 1,000

_26_




2N F0IMET| A Dt
M HNSHBH (M) (JIEH/IIE
Sl Il = Al (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AFR2 22l Yl 12,000 11,000 1,000
O YBt+=gH| 8,000,000 8,000
o= &l 4,000,000 4,000
202 (4] 94,080 86,400 7,680
01 2L Y] 94,080 86,400 7,680
oOUEH NI 280,000 x28H x12& 94,080
203 ¥R =&Y 4,920 4,200 720
04 ENSIHRF=XY| 4,920 4,200 720
ORN2IIRF&Y| 410,000& *12& 4,920
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